2 B [MAZFF|FHK| K £ ANAREA L POPE NN ISSG|NR
6| 12 |BTEH BEfE|6/16] 2.2479 | 32.49 10926 | 1.46.83 | 22459 | TAB| 8
b1 13 [hEH B2 [6/16] 2.19.03 | 3243 10721 | 14280 | 21764 | JBA| 8
& B 13 | K $52 [11/2] 2.07.10 | 30.08 10246 | 1.3543 | 2.07.13 | JUA [ 10
2| 14 [ #1lL EB [4/13] 2.06.60 | 30.02 10215 | 13455 | 2.06.15 [ JUA| 10
200mFR 2| 14 | A HEZE |6/16] 2.18.99 | 32.08 10686 | 14303 | 21978 | - | 7
b2 | 14 | /DR FRg [11/2] 21762 | 31.26 10703 | 14404 | 21927 | - | 8
N5 11 | A $HF [4/21] 253.26 | 38.06 12028 | 20264 | 24283 | TAD| 5
B|di1[ 13 [ BER BE [11/2] 21845 31.95 10891 | 14747 | 22533 | - | 5
2| 14 | F1 &F [5/19] 2.03.12 [ 2899 10142 | 13542 | 20898 [ - [ 8
#Z 1] 13 [ 8@ (0¥ [5/19] 2.3557 | 34.43 11550 | 20023 | 23687 | - | 8
200mIM 1] 15 [ #F X4t 28.93 10092 | 14236 | 2.1410 [ JBA| 9
B &1 16 | WA FEX[11/3] 20828 [ 2893 101.31 | 1.39.31 | 2.0968 | JIMA| 9
=2 17 | g ZXB 30.11 10880 | 14522 | 2.18.21 - 17
M2 8 [&Epll FE5|9/8| 43.72 18.22 39.18 TAB | 10
& /b4l 10 =)l E& [10/27] 39.09 18.25 41.38 - [ 4
SOmELY N4l 10 (£ FiEFE|10/27] 3717 17.17 38.03 TAC | 7
M5 11| AR # |11/3] 36.30 16.31 35.43 TAC|[ 7
g M6 | 11 |FE WEA[10/27] 31.39 14.77 32.02 TAB | 9
2] 13 [ &% B |7/14] 3344 15.41 32.92 - |5
/N3] 8 | hHE A& | 9/8 | 49.04 22.09 4471 TAD | 8
2« /b4l 10 gy &% [9/8 ] 40.14 19.02 39.78 TAC | 6
M4l 10 | & = [12/15 40.06 19.26 39.64 TAC[ 6
M5 11| Fll F% 19.56 39.17 TAD | 5
o N3] 9 | EX &G [ 9/8] 3864 18.50 37.15 JMA[ 9
N3] 9 | ki FEFP [10/27] 39.68 19.37 39.98 TAB | 8
] M4l 10 | hE &R 18.56 40.12 TAC | 6
NG| 11 [#A)11 RAER[12/15] 35.21 17.43 35.94 TAB [ 7
5] 11 | A 55 9/8] 4865 2155 4384 - |1
NS 11 | #AFE ZxF0 |12/15] 40.35 19.16 40.36 - 4
5| 11 | Fk 0E | 11/3] 1.0446 | 1457 31.59 48.25 10520 | JMA| 9
6| 12 |BTES BEfE[11/3] 1.05.65 | 14.28 31.42 48.43 10603 [ UBA| 8
1| 13 [ A BEZF |7/14] 1.0497 | 1457 3112 47.43 1.0455 | JBA| 8
Z (dh1] 13 | skEH #5Z [11/3] 1.0058 | 13.75 29.43 4457 59.87 | JUA [ 10
1] 13 [ 2@ (i [4/14] 1.06.73 | 14.00 31.78 47.64 1.04.81 - |8
ho| 14 | &8 B#f[11/3] 10111 ] 13.75 29.82 45.72 10252 | JBA| 9
b2 14 [ I HEZE |6/16] 1.03.31 | 14.18 30.81 47.50 10426 | - | 8
100mFR N5 11 | @A B2 [12/15) 1.16.13 | 16.84 36.24 55.88 1.15.34 - 5
6| 11 |[mE mEA[4/14] 10853 [ 14.16 30.91 47.91 10571 [ TAB| 9
6| 12 | 8F& &A [4/21] 11684 [ 15.38 33.66 52.16 1.1091 [ TAD| 5
g [\6 12 |m:& B—Bl12/15 1.1503 | 17.60 36.45 55.20 11263 | - | 4
N6 | 12 ||/A A% [7/14] 11390 [ 1545 34.01 52.71 11163 | TAD|[ 5
2| 14 [ iy &% [7/14] 57.20 13.28 28.88 4431 59.78 - | 8
h2| 14 [BTEE F|11/3] 59.58 13.00 28.95 44 40 59.67 - |8
=11 16 [ 1A FX [11/3] 52.60 12.24 25.20 38.84 5210 | JUA [ 10
N4l 9 [#&EHF BIEM|12/15] 1.39.19 [ 2233 47.45 1.1500 | 14148 [ TAD | 7
Z(h1| 13 [ &8 H>o2[11/3] 11392 ] 15.66 35.10 54.22 1.13.72 | JUA [ 10
100mBR 3] 15 | &1L 2F0[5/19] 1.1207 | 1537 34.03 52.59 1.11.76 | JUA [ 10
Mal 10 [ hE ®E [9/8] 13313 19.39 4244 1.05.78 | 1.2856 | JBA| 8
=2 17 | g1 ZABH [7/14] 10684 [ 15.35 32.39 50.70 10966 | - [ 7
M4l 10 | FNI Bk [12/15 1.37.17 [ 19.95 4479 11377 | 14304 [ - | -
M4l 10 |2 FiEFEl12/15 1.2961 [ 18.10 39.26 1.02.10 | 12517 [ TAC| 6
5|11 ] AR # [12/15 1.18.80 | 16.49 35.56 55.39 | 1.17.03 [TAC | 7
100mFLY 1| 13 | EE £%& [11/2] 10788 | 1487 32.38 50.31 1.09.10 [ UBA| 8
2| 14 | £l EB [7/14] 10385 1448 31.48 48.48 1.0583 [ UMA| 9
5 1| 13 [5&sE BE—BR[5/19] 1.01.73 | 13.80 29.15 45.12 1.01.09 [ UMA | 10
h2| 13| ¥ B [6/16] 11628 [ 15.35 35.94 5813 | 12059 | - | 2
Mmal 10 | S 5 [7/14] 1.29.22 41.14 12342 [ TAB| 7
T (/a4 10 | A B [7/14] 1.29.91 41.21 12460 [ TAC| 7
100mBA 6| 12 | &=F ZFE [10/27] 1.10.00 [ 15.49 3337 51.13 1.08.93 [ UMA | 10
INS | 11 | B 2k #0 [12/15] 12443 | 19.87 41.82 10381 [ 12615 | - [ 4
B 2| 14 [ATEEH F[11/2] 1.0691 | 1545 31.64 48.84 10557 | - | 8
=11 15 | #F X4 [10/27] 5859 13.50 28.46 43.43 5827 | JMA[ 10
il . 29.96 1.0559 | 1.41.21 [ 2.15.91
400miM | 55 | %1| 16 | & &KX 25515 | 33473 | 40637 | 43570 | MA| ®




